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float totalMark ;
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Console. WriteLine('Total mark: " totalMark);
Console. WriteLine("'Total credit: " totalCredit);
Console. WriteLine("'Average: " average);
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using System;

class Average

{

static void Main()

{
floatphysicMark 17.5F,chemistryMark 19,mathMark 14.5F;
float litracyMark 18,PEMark 19;
int physicCredit 3, chemistryCredit 2, mathCredit 4;
int literacyCredit 2,PECredit 1;
float totalMark;
totalMark (physicMark x physicCredit)
(chemistryMark x chemistryCredit)
(mathMark x mathCredit)
(litracyMark x literacyCredit)

(PEMark x PECredit);
A



int totalCredit = physicCredit + chemistryCredit + mathCredit + literacyCredit
+ PECredit;

float average = totalMark / totalCredit;

Console WriteLine(“Total mark: ” + totalMark);

Console WriteLine(“Total credit: ” + totalCredit);

Console WriteLine(“Average: ” + average);

Console ReadKey();
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1) int number 127.9;
2) float number 12 2.3;
3) ushort myMark 1300;
4) sbyte totalScore 250;
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n 0;
d 4
as;
Console.WriteLine(a d*n);
n 1;
Console.WriteLine(a d* n);
n 1;
Console.WriteLine(a dskn);
n 1;
Console.WriteLine(a d%n);
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inta 5;
intb a;
Console. WriteLine(a);
Console. WriteLine(b);
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inta 5;
intb a ;
Console. WriteLine(a);
Console. WriteLine(b);
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Which of the following is the correct way to initialize the variables i and j to a

value 10 each?

A) inti 10; B) inti 10,j 10;
intj 10;

C) inti,j; D) inti,j 10;
i 10:j 10;

E) inti j 10;
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using System ;
class Expression

{

static void Main()

{
int weight  700;
Console. WriteLine(weight > 500); // True
char gender 'm’;
Console. WriteLine(gender ~ 'f'); // False
doublecolorWaveLength 1.630;
Console. WriteLine(colorWaveLength> 1.621); // True
Console.WriteLine(B'  'A" 1);// True
Console.ReadKey();
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if (mark < 10)
Console. WriteLine("Failed");
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if (password ~ "admin123")

Console. WriteLine("Welcome "); false

password == "admin123"

¢ true

/ "welcome"osr)&s\ /

<

3309 7y uop ==Y O o4 <
 /

classLogin

{

staticvoid Main()
{
string password;
Console. Write("Enter password: ");
password Console.ReadLine();
if (password  "admin123")
Console. WriteLine("Welcome");
Console. WriteLine("'Press any key to continue. ..");

Console.ReadKey();
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